
Government of India
Ministry of Defence

Ordnance Factory Board
10A, S.K. Bose Road

Kolkata - 700001

CENTRALISED VENDOR REGISTRATION CERTIFICATE

This is to certify that M/s SINGHAL INDUSTRIES, 29/22 STREET NO. 6 ANAND PARBAT INDUSTRIAL AREA. street no. 6 NEW

DELHI Delhi is registered at Ordnance Factory Board for following Items.

 

Sl.
No.

Factory / Unit Item Nomenclature Initial Date of
Registration

1 Ordnance Factory Muradnagar BASE TRANSIT FOR 250KG 03-02-2016

2  450 KG 03-02-2016

3  1000LB 03-02-2016

4 FILLING PLUG FOR 250 KG 03-02-2016

5  450 KG 03-02-2016

6 LUG HOUSING ASSEMBLY M/cd. FOR 450 KG 03-02-2016

7 NOSE PLUG FOR 250KG 03-02-2016

8 PLUG FASTENING FOR 250 KG 03-02-2016

9 PLUG FOR LUG HOUSING FOR 250 KG 03-02-2016

10 PRTECTING RING ASSY. 1000 LB 03-02-2016

11 RING NUT FOR 250KG 03-02-2016

12  450 KG 03-02-2016

13  1000LB 03-02-2016

14 T.A. BOLT M20 03-02-2016

15 T.A. BOLT M27 03-02-2016

16 T.A. Washer of T-90 Track Assy. 03-02-2016

17 T.A. BOLT M20[62] 20-12-2019

18 T.A. BOLT M27[62] 20-12-2019

19 RING NUT FOR 250KG, 450 KG, 1000LB[62] 20-12-2019

Page 1/6



20 BASE TRANSIT FOR 250KG, 450 KG, 1000LB[62] 20-12-2019

21 NOSE PLUG FOR 250KG[62] 20-12-2019

22 PLUG FOR LUG HOUSING FOR 250 KG[62] 20-12-2019

23 PLUG FASTENING FOR 250 KG[62] 20-12-2019

24 LUG HOUSING ASSEMBLY M/cd. FOR 450 KG[62] 20-12-2019

25 FILLING PLUG FOR 250 KG, 450 KG[62] 20-12-2019

26 T.A. Washer of T-90 Track Assy.[62] 20-12-2019

27 PRTECTING RING ASSY. 1000 LB[62] 20-12-2019

28 Nose Plug 250KG (6240900504)[62] 15-06-2019

29 RING NUT 250 KG (6240900904)[62] 15-06-2019

30 BASE TRANSIT (250KG) (6240900104)[62] 20-12-2019

31 LUG HOUSING 250 KG (6240100114)[62] 20-12-2019

32 LUG HOUSING HOLDER 250 KG (6240100124)[62] 20-12-2019

33 PLUG DUMMY 250 KG (6241101114)[62] 20-12-2019

34 FILLING PLUG ( 250 KG) (6240000504)[62] 15-06-2019

35 LOCKING SCREW FOR DETO HOLDER

6220901100[62]

20-12-2019

36 LUG HOUSING ASSEMBLY 450 KG ASSY M-C

(6230100104)[62]

15-06-2019

37 PLUG FASTENING 250 KG (6241101124)[62] 20-12-2019

38 FILLING PLUG ( 450 KG)(6230400504)[62] 15-06-2019

39 RING NUT 450 KG (6230900904)[60] 15-06-2019

40 BASE TRANSIT FOR 450 KG (6230901004)[62] 15-06-2019

41 CONTAINER EXPLODER 1000 LBS

(6224121300)[62]

20-12-2019

42 CONTAINER EXPLODER 250 KG (6244121304)[62] 20-12-2019

43 CONTAINER EXPLODER 450 KG (6230701104)[62] 20-12-2019

44 DETONATOR HOLDER 1000 LBS (6220900700)[62] 20-12-2019

45 DETONATOR HOLDER 250 KG (6230901204)[62] 20-12-2019

46 DETONATOR HOLDER 450 KG (6230901206)[62] 20-12-2019

Page 2/6



47 HEX SOCKET HD CAP SCREW M6X25

1732040625[17]

20-12-2019

48 HEX SOCKET SET SCREW 450 KG 6230001304[62] 20-12-2019

49 HEX SOCKET SET SCREW BT 450 KG

1727041225[17]

20-12-2019

50 HEX SOCKET SET SCREW M5 450KG

6230901104[62]

20-12-2019

51 LOCKING SCREW FOR CONT EXPLODER

6220900710[62]

20-12-2019

52 Nose Plug 1000LBS(6220901044)[62] 20-12-2019

53 NOSE PLUG 450KG (6230900504)[62] 20-12-2019

54 PLUG 450 KG 6231101105[62] 20-12-2019

55 Ordnance Factory Khamaria SLIPPING RING (6770430100)[67] 04-11-2019

56 AFT CLOSURE BLANK FOR HEAT-551

(9911357918)[99]

04-11-2019

57 PLUNGER BLANK FOR 84 HEAT-551

(9911357919)[99]

04-11-2019

58 Ordnance Factory Ambajhari STRIKER SPRING TO CQA A DRG NO 3 016919

DET 11 DC 37284 A DT 6 7 2011[00]

23-11-2019

59 BODY SEMI FINISHED TO OFAJ DRG NO FS 1851

E[00]

23-11-2019

60 MAGAZINE TO OFAJ DRG NO FS 2635 B[00] 23-11-2019

61 ROTOR SLEEVE TO CQA AMMN DRG NO 3 016919

DETAIL 17 DC NO 37284 A DTD 06 JULY 2011[00]

23-11-2019

62 STRIKER COVER TO CQA A DRG NO 3 016919

DET 8 DC 37284 A DT 06 07 2011[00]

23-11-2019

63 STRIKER PIN TO CQA AMMN DRG NO 3 016919

DET 10 DC 37284 A DT 06 7 2011[00]

23-11-2019

64 WASHER FOR PART NO 25 TO CQA AMMN DRG

NO 3 016919 DETAIL 50 DC 1 37284 A Dt 6 7

2011[00]

23-11-2019

65 SAFETY CAP TO CQA A DRG N0 3 016919 DET 26

DC 37284 A DT 6 7 2011[00]

23-11-2019

66 DETENT SLEEVE SPRING FOR PART NO 29 TO

CQA A DRG NO 3 016919 DET 30 DC 37284 A DT 6

7 2011[00]

23-11-2019

Page 3/6



67 DETENT SPRING DET 31 FOR PART NO 28[00] 23-11-2019

68 INERTIA SLEEVE TO CQA A DRG NO 3 016919

DET 3 DC 37317 A DTD 25 09 2012[00]

23-11-2019

69 HEAD WITHOUT SURFACE TREATMENT TO OFAJ

DRAWING NO FS 2936 OR LATEST AMENDED

DRG AND SPECN AS ON TE DATE[00]

23-11-2019

70 Ordnance Factory Kanpur Tail Adapter As Per Drg. (Part) No. ITV 47 For Tail

Unit 2A[65]

29-11-2019

71 Ordnance Factory Dehu Road CLOSING CUP MODIFIED M.B. 120MM ILLG.[99] 24-06-2021

72 BOTTOM PLATE WITH SWIVEL FOR 84 MM[62] 24-06-2021

73 EYE LET FOR 120MM ILLG.[63] 24-06-2021

74 CASE ASSEMBLY EMPTY FOR CARTRIDGE

SIGNAL 1 INCH GREEN[60]

24-06-2021

75 CASE ASSEMBLY EMPTY FOR CARTRIDGE

SIGNAL 1 INCH ILLUMINATING[60]

24-06-2021

76 BODY EMPTY FOR 51MM SMOKE[62] 24-06-2021

77 Set of 5 Components Upper Set for 51mm Illg. [62] 24-06-2021

78 CASE CARTG. FOR 16MM RED[60] 24-06-2021

79 CASE CARTRIDGE FOR 16 MM WHITE[60] 24-06-2021

80 DISC INDEX FOR 16 MM WHITE[60] 24-06-2021

81 CASE CARTRIDGE FOR 16 MM GREEN [60] 24-06-2021

82 DISC INDEX FOR 16 MM RED[60] 24-06-2021

83 DISC INDEX FOR 16 MM GREEN[60] 24-06-2021

84 STEEL DISC FOR PYRO(INDIA) BUOYANT SMOKE

ORGANGE[99]

24-06-2021

85 STRIKER FOR PYRO(INDIA) BUOYANT SMOKE

ORGANGE[62]

24-06-2021

86 STRIKER HOLDER FOR PYRO(INDIA) BUOYANT

SMOKE ORGANGE[62]

24-06-2021

87 LINK FORK RELEASE FOR PYRO (INDIA)

BUOYANT SMOKE ORANGE[62]

24-06-2021

88 ADAPTER NOSE FOR MORTAR BOMB 81MM

ILLG.2A[62]

24-06-2021

89 Cup half assembly for M.B. 81mm Illg. 2A[62] 24-06-2021

Page 4/6



90 SET OF EIGHT NOS EMPTY COMPONENTS FOR

SHELL 105MM IFG SMOKE BE 3A / IFG COLOUR

SMOKE BE 3A[62]

24-06-2021

91 BAFFLE PLATE FOR 81MM ILLG. MK II[62] 24-06-2021

92 WASHER COPPER FOR 105 MM ILLG.[62] 24-06-2021

93 SUPPORT DRAUGH PARACHUTE FOR SHELL 155

mm Illg[63]

24-06-2021

94 SUPPORT PARACHUTE (SET OF 4) FOR SHELL

155MM ILLG.[63]

24-06-2021

95 CUP SECURING CARTG. FOR BUOYANT

SMOKE[62]

24-06-2021

96 AL. RING FOR BUOYANT SMOKE[62] 24-06-2021

97 EMPTY CANISTER ASSEMBLY FOR M2A2[62] 24-06-2021

98 CONTAINER STAR FOR 81MM ILLG.[62] 24-06-2021

99 CONTAINER FOR 51 MM SMOKE[62] 24-06-2021

100 EMPTY COMPONENTS FOR BASE BLEED

IGNITER[64]

24-06-2021

101 WASHER STAR 32.512 MM 1-1/2 R/G/Y[99] 24-06-2021

102 STAR HOUSING FOR 120MM ILLG.[63] 24-06-2021

103 SET OF 9 COMPONENTS FOR FLARE TRIP

WIRE[64]

25-06-2021

104 DIAPHRAM ITEM NO. 7 FOR FLARE TRIP WIRE[64] 25-06-2021

105 PICKET WITH SIDE SPRING (ITEM NO. 15) FOR

FLARE TRIP WIRE[64]

25-06-2021

106 COVER EMPTY FOR FLARE TRIP WIRE MK 1/L

ITEM N0.9 [64]

25-06-2021

107 BURSTER TUBE (STEEL) FOR PARA FLARE

RED[62]

25-06-2021

108 TAIL ADAPTER FOR BOMB 51MM SMOKE[62] 25-06-2021

109 BODY FOR 51MM ILLUMINATING[62] 25-06-2021

110 TOP PLATE FOR PARA FLARE RED[62] 25-06-2021

 

Registration No. : DELS35619D

Initial Date of Registration : 03-02-2016

Page 5/6



Downloaded at : 24/09/2024 08:54 am

 

Conditions of Registration:

1. This Registration has been carried out based on self-declared documents furnished by Vendor.

2. Changes, if any, in Address or constitution of the Firm, major Machinery/Equipment or Technology should be intimated to the

Registration Authority immediately.

3. The Registration Authority reserves the right to cancel this Registration Certificate at any time.

4. Registration will be valid for 05 years with automatic renewal unless cancelled on account of administrative reasons.

 

 This is a system generated certificate. Hence no separate signature is required.

 

NOTE: It is only a registration of vendor. It does not grant any special supply status to the Vendor. It is for the purpose of
participation in Tender process only.

 

 

Powered by TCPDF (www.tcpdf.org)

Page 6/6

http://www.tcpdf.org

